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s>9�N Ricci W9�#C n − 2, O Mn s Sn(1) pQs Sm
(

√

1
2
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× Sm
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1
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⊂

Sn+1(1) (n = 2m), pQs S7(1) d9 P 2
4
3

, Nd Sm
(

√

1
2

) s
�� 1
2 9TB� P 2

4
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s5Z[)W9� 4
3 9H�Sg=$��4 n = 2m l�fw��s0Y9�f~gZ���K(K�W9!/9l7&sv#l7&95Zn℄�a�CCS39l7&�sR-M&|C<) 1.1 9�)s5ZN��Z9���,EtQ2>�
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n−1 (1+H2),O Mn s[O9�Nd n > 4, H s Mn 9dW9�3s�4 Mn [Ol� Mn 9 RicciW9� (n − 1)(H2 + 1), ^� [6] 9���s0Y9�;*��� Mn 9 Ricci W9.6�
9��s�9:9�
��>�	C� [5] 9LI�C� [2] d95Z`C Mn 9>Hr
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 2.1 h Sn+p(1) s5Z n + p �91�TB� n > 4, Mn s�
 Sn+p(1) 9��N4K(K�W9!/9 n ��a-�l7&�R�
s>9�h Mn 9 Ricci W9�#C (n − 2)(1 + H2), Nd H � Mn 9dW9�O

(1) 4 p = 1 l� Mn s[O9�y Mn �5Z n �TB�
(2) 4 p > 2 l�Mn s[O9pQ Mn 9 Ricci W9;C (n− 2)(1 + H2), *l Mn� Mm × Mm ⊂ Sn+1(1 + H2), n = 2m, p� S7(1 + H2) d9 P 2

4(1+H2)
3

, Nd Mm s5Z���BW9� 2(1 + H2) 9 m �7&� P 2
4(1+H2)

3

s[)�W9� 4(1+H2)
3 9H�Sg=$��

3 � v # �h Sn+p(1) s5Z1�TB� Mn s�
 Sn+p(1) 9 n �l7&�.N Sn+p(1) 95q��Vb��� e1, e2, · · · , en+p, o8�
C Mn l�!/ e1, e2, · · · , en E Mn �Q�7�J�^�9Y℄JÆ�
1 6 A, B, C, · · · 6 n + p,

1 6 i, j, k, · · · 6 n,

n + 1 6 α, β, γ, · · · 6 n + p.h ω1, ω2, · · · , ωn+p � e1, e2, · · · , en+p 9CJ���� {ωAB} � Sn+p(1) 9,=&p�O�[2]

dωi =
∑

j

ωij ∧ ωj, ωij + ωji = 0.

dωij =
∑

k

ωik ∧ ωkj + Ωij , Ωij = −
1

2

∑

k,l

Rijklωk ∧ ωl,

Rijkl = δikδjl − δilδjk +
∑

α

(hα
ikhα

jl − hα
ilh

α
jk), (3.1)

dωαβ =
∑

γ

ωαγ ∧ ωγβ + Ωαβ, Ωαβ = −
1

2

∑

k,l

Rαβklωk ∧ ωl, (3.2)

Rαβkl =
∑

i

(hα
ikh

β
il − hα

ilh
β
ik). (3.3)�: hα

ijk �
∑

k

hα
ijkωk = dhα

ij +
∑

l

hα
ilωlj +

∑

l

hα
ljωli −

∑

β

h
β
ijωαβ, (3.4)O� hα

ijk = hα
ikj .h Rii s Mn M ei L!9 Ricci W9� R s Mn 9x/W9�? (3.1), �

Rii = n − 1 +
∑

α,k

(hα
kkhα

ii − (hα
ik)2), (3.5)

R = n(n − 1) + n2H2 − S,



6 M k�L <�m �X:%�e�W Ricci X::m8' 681Nd H sdW9!/ η =
∑

α

1
n
(trAα)eα 9�B�	s Mn 9dW9� S =

∑

α

(trA2
α) s

Mn 9>Hr
&p ∑

i,j,α

hα
ijωiωjeα �B9KL�*' Aα = (hα

ij), tr �q�U9u�ad H 6= 0, 6 en+1 = η
‖η‖ , O

trAα = 0, α 6= n + 1,

trAn+1 = nH.ad Mn ��N4K(K�W9!/�O H = �x 6= 0 R
ωαn+1 = 0. (3.6),F�� AαAn+1 = An+1Aα.?� [2], �

∆hn+1
ij =

∑

k,m

(hn+1
km Rmijk + hn+1

mi Rmkjk), (3.7)

∆h
β
ij =

∑

k,m

(hβ
kmRmijk + h

β
miRmkjk) −

∑

γ,k

h
γ
kiRβγjk, β 6= n + 1.

4 � � 2.1 } " �h u2 = trA2
n+1 − nH2, λi = hn+1

ii . .N5qlu9Q��C�o An+1 = (hn+1
ij ). ?

(3.1) i (3.7), �
1

2
∆u2 =

∑

i,j,k

(hn+1
ijk )2 +

1

2

∑

i,j

(λi − λj)
2Rijij

>
1

2

∑

i,j

(λi − H + H − λj)
2Rijij

=
∑

i,j

(λi − H)2Rijij −
∑

i6=j

(λi − H)(λj − H)
(

1 + λiλj +
∑

α6=n+1

hα
iih

α
jj − (hα

ij)
2
)

=
∑

i

(λi − H)2Rii −
∑

i6=j

(λi − H)(λj − H)(1 + λiλj)

−
∑

i6=j

α 6=n+1

(λi − H)(λj − H)(hα
iih

α
jj − (hα

ij)
2), (4.1)Nd

−
∑

i6=j

(λi − H)(λj − H)(1 + λiλj)

= −
∑

i,j

(λi − H)(λj − H) −
∑

i,j

(λi − H)(λj − H)λiλj +
∑

i

(λi − H)2 +
∑

i

(λi − H)2λ2
i

= −
(

∑

i

(λi − H)
)2

−
(

∑

i

(λ2
i − λiH)

)2

+ u2 +
∑

i

(λi − H)2(λi − H + H)2

= 0 − u4 + u2 +
∑

i

(λi − H)4 + 2
∑

i

H(λi − H)3 + H2u2

= −u4 + (1 + H2)u2 +
∑

i

(λi − H)4 + 2
∑

i

H(λi − H)3. (4.2)



682 y / I ! 32 � A w? (3.5), C i = 1, 2, · · · n, �
Rii = n − 1 − λ2

i + nHλi −
∑

j,α6=n+1

(hα
ij)

2

= −(λi − H)2 + (n − 2)H(λi − H) + (n − 1)(1 + H2) −
∑

j,α6=n+1

(hα
ij)

2. (4.3)�Mh-M Q, C i = 1, 2, · · · n, � Rii > Q. ? (4.3), �
−u2

> nQ − n(n − 1)(1 + H2) +
∑

i,j,α6=n+1

(hα
ij)

2, (4.4)

H(λi − H) >

Q − (n − 1)(1 + H2) + (λi − H)2 +
∑

j,α6=n+1

(hα
ij)

2

n − 2
. (4.5)M (4.5) .�	l"7 2(λi − H)2 �C i Vi��

2
∑

i

H(λi − H)3 >
2

n − 2

(

(Q − (n − 1)(1 + H2))u2 +
∑

i

(λi − H)4

+
∑

i,j,α6=n+1

(hα
ij)

2(λi − H)2
)

. (4.6)? (4.1)–(4.2) x (4.6), #786
1

2
∆u2

>
n(Q − (1 + H2))u2

n − 2
− u4 +

n

n − 2

∑

i

(λi − H)4 +
2

n − 2

∑

i,j,α6=n+1

(hα
ij)

2(λi − H)2

−
∑

i6=j

α 6=n+1

(λi − H)(λj − H)(hα
iih

α
jj − (hα

ij)
2). (4.7)? Cauchy-Schwarz�;p��

∑

i

(λi − H)4 >
u4

n
, (4.8)Nd;h *9#4��� (λ1 − H)2 = · · · = (λn − H)2.�5�=�? (4.4) i (4.8) #786

−u4 +
n

n − 2

∑

i

(λi − H)4 > −
(n − 3)u4

n − 2

>

(n − 3)
(

nQ − n(n − 1)(1 + H2) +
∑

i,j,α6=n+1

(hα
ij)

2
)

u2

n − 2
.;*�8

1

2
∆u2

> n(Q − (n − 2)(1 + H2))u2 +
(n − 3)u2

n − 2

∑

i,j,α6=n+1

(hα
ij)

2

+
2

n − 2

∑

i,j,α6=n+1

(hα
ij)

2(λi − H)2

−
∑

i6=j

α 6=n+1

(λi − H)(λj − H)(hα
iih

α
jj − (hα

ij)
2). (4.9)
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L =

( (n − 3)u2

n − 2

∑

i,α6=n+1

(hα
ii)

2 +
2

n − 2

∑

i,α6=n+1

(hα
ii)

2(λi − H)2

−
∑

i6=j

α 6=n+1

(λi − H)(λj − H)hα
iih

α
jj

)

+
((n − 3)u2

n − 2

∑

i6=j

α 6=n+1

(hα
ij)

2

+
2

n − 2

∑

i6=j

α 6=n+1

(hα
ij)

2(λi − H)2 +
∑

i6=j

α 6=n+1

(λi − H)(λj − H)(hα
ij)

2
)

.> L∗ �q L 9> 2 ��O
L∗

>
(n − 3)

n − 2

∑

i6=j

α 6=n+1

((λi − H)2 + (λj − H)2)(hα
ij)

2

+
1

n − 2

∑

i6=j

α 6=n+1

((λi − H)2 + (λj − H)2)(hα
ij)

2 +
∑

i6=j

α 6=n+1

(λi − H)(λj − H)(hα
ij)

2

=
∑

i6=j

α 6=n+1

((λi − H)2 + (λj − H)2 + (λi − H)(λj − H))(hα
ij)

2
> 0. (4.10)> L∗∗ �q L 9> 1 ��O

L∗∗ =
1

n − 2

(

(n − 3)
∑

i,j,α6=n

(λj − H)2(hα
ii)

2 + 2
∑

i,α6=n+1

(hα
ii)

2(λi − H)2

−
∑

i6=j

α 6=n+1

(n − 2)(λi − H)(λj − H)hα
iih

α
jj

)

.C L∗∗ d�Z_� α, |
fα =

∑

i

(

(n − 3)
∑

j

(λj − H)2 + 2(λi − H)2
)

(hα
ii)

2 −
∑

i6=j

(n − 2)(λi − H)(λj − H)hα
iih

α
jj .

fα s`C hα
ii (i = 1, 2, · · · , n) 9nH+%�N�Us















(n − 3)
∑

j

(λj − H)2 + 2(λ1 − H)2 · · · −(n − 2)(λ1 − H)(λn − H)

−(n − 2)(λ2 − H)(λ1 − H) · · · −(n − 2)(λ2 − H)(λn − H)
...

...
−(n − 2)(λn − H)(λ1 − H) · · · (n − 3)

∑

j

(λj − H)2 + 2(λn − H)2















.fw�U9 k 
hlp�
Dk =

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

(n − 3)
∑

j

(λj − H)2 + 2(λi1 − H)2 · · · −(n − 2)(λi1 − H)(λik
− H)

−(n − 2)(λi2 − H)(λi1 − H) · · · −(n − 2)(λi2 − H)(λik
− H)

...
...

−(n − 2)(λik
− H)(λi1 − H) · · · (n − 3)

∑

j

(λj − H)2 + 2(λik
− H)2

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

,Nd k = 1, 2, · · · , n, 1 6 i1 < i2 < · · · < ik 6 n.



684 y / I ! 32 � A w�X Dk > 0. �k5	*��Mh (n − 3)
∑

j

(λj − H)2 6= 0, O
Dk =

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

1 (n − 2)(λi1 − H) · · · (n − 2)(λik
− H)

0 (n − 3)
∑

j

(λj − H)2 + 2(λi1 − H)2 · · · −(n − 2)(λi1 − H)(λik
− H)

...
...

...
0 −(n − 2)(λik

− H)(λi1 − H) · · · (n − 3)
∑

j

(λj − H)2 + 2(λik
− H)2

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

=

∣

∣

∣

∣

∣

∣

∣

∣

∣

1 (n − 2)(λi1 − H) · · · (n − 2)(λik
− H)

λi1 − H G1 · · · 0
...

...
...

λik
− H 0 · · · Gk

∣

∣

∣

∣

∣

∣

∣

∣

∣

=

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

1 −
k
∑

p=1

(n−2)(λip−H)2

Gp
(n − 2)(λi1 − H) · · · (n − 2)(λik

− H)

0 G1 · · · 0
...

...
...

0 0 · · · Gk

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

,Nd Gp = (n − 3)
∑

j

(λj − H)2 + n(λip
− H)2, p = 1, 2, · · · , k. ;* Dk > 0 9#4��s

1 −
k
∑

p=1

(n−2)(λip−H)2

Gp
> 0. j96 1 −

k
∑

p=1

(n−2)(λip−H)2

Gp
> 1 −

n
∑

k=1

(n−2)(λk−H)2

Gk
.h m = (n − 3)

∑

j

(λj − H)2, f(x) = (n−2)x
m+nx

, O4 x > 0 l� f ′′(x) = − 2nm(n−2)
(m+nx)3 6 0.Cs�4 x > 0l�f(x)s
fx�;* 1

n
(f(x1)+f(x2)+· · ·+f(xn)) 6 f(x1+x2+···+xn

n
).��=�

n
∑

k=1

(n − 2)(λk − H)2

(n − 3)
∑

j

(λj − H)2 + n(λk − H)2
6 n

(n−2)
n

∑

j

(λj − H)2

(n − 3)
∑

j

(λj − H)2 +
∑

j

(λj − H)2
= 1.~7 Dk > 0. ;* fα s
V�9H+%�,F L∗∗ sNT9�?�h� Rii > (n − 2)(1 + H2) (i = 1, 2, · · · , n), (4.9) x L∗ i L∗∗ NT�#786

1
2∆u2 > 0. ℄� Hopf v/℄H)� u2 s5Z�x�? (4.1) x (4.8) #786

hn+1
ijk = 0, i, j, k = 1, 2, · · · , n, (4.11)

(λ1 − H)2 = · · · = (λn − H)2. (4.12)�5�=� (4.1)–(4.10) d9�5Z “ > 0” �� “ = 0” R L∗ = 0, L∗∗ = 0.4 i = j (i, j = 1, 2, · · · , n)l�? (3.4), (3.6)x (4.11), #8 0 = dλi +2hn+1
ii ωii = dλi,;* λi s�x�4 i 6= j (i, j = 1, 2, · · · , n) l�? (3.4) i (3.6), #8

0 = 0 + hn+1
ii ωij + hn+1

jj ωji − 0 = (λi − λj)ωij . (4.13)8Z u2 = 0 4R�4 λ1 − H = λ2 −H = · · · = λn −H = 0. �A�XDM Mn f�
u2 = 0. RO�M Mn 9F5? P0 93GH� u2 6= 0.7�9�;�
M P0 93GH�



6 M k�L <�m �X:%�e�W Ricci X::m8' 685? (4.12) Z� (λ1 − H)2 = (λ2 − H)2 = · · · = (λn − H)2 6= 0. ?C λ1 − H + λ2 −

H + · · · + λn − H = 0, ~7 n sJx�6 n = 2m. .Nu49z-�O� λ 6= 0 >p
λ1 − H = λ2 − H = · · · = λm − H = λ, λm+1 − H = λm+2 − H = · · · = λ2m − H = −λ.? (4.1), (4.4)–(4.7) i (4.9), �

Rii = (n − 2)(1 + H2), i = 1, 2, · · · , n. (4.14)? (4.10), #8 ∑

i6=j

α 6=n+1

((λi − H)2 + (λj − H)2 + (λi − H)(λj − H))(hα
ij)

2 = 0, Cs
hα

ij = 0, i 6= j, i, j = 1, 2, · · · , n, α 6= n + 1. (4.15),F
L∗∗ =

(n − 3)nλ2

n − 2

∑

i,α6=n+1

(hα
ii)

2 +
2λ2

n − 2

∑

i,α6=n+1

(hα
ii)

2 −
∑

i6=j

α 6=n+1

(λi − H)(λj − H)hα
iih

α
jj

= (n − 1)λ2
∑

i,α6=n+1

(hα
ii)

2 −
∑

i6=j

α 6=n+1

(λi − H)(λj − H)hα
iih

α
jj

=
1

4

∑

i,j,α6=n+1

(((λi − H)hα
jj − (λj − H)hα

ii)
2 + ((λi − H)hα

ii − (λj − H)hα
jj)

2) = 0.OC~�9 i, j = 1, 2, · · · , n, α 6= n + 1, �
(λi − H)hα

jj = (λj − H)hα
ii, (4.16)

(λi − H)hα
ii = (λj − H)hα

jj . (4.17)? (4.16) p (4.17) Z�M Mn f? P0 93GHi~� α (> n + 2), -M hα, o8
hα

11 = hα
22 = · · · = hα

mm = hα, (4.18)

hα
(m+1)(m+1) = hα

(m+2)(m+2) = · · · = hα
(2m)(2m) = −hα. (4.19)? (4.13) Z�4 i = 1, 2, · · · , m, j = m + 1, · · · , 2m l�� ωij = 0. L? (3.1) #8

0 = dωij =
∑

k

ωik ∧ ωkj −
1

2

∑

k,l

Rijklωk ∧ ωl,Nd ∑

k

ωik ∧ ωkj �℄� 0. rnf��a ωik 6= 0, ωkj 6= 0, ? (4.13) #8 λi = λk = λj ,E λi 6= λj �?D�;* ∑

k,l

Rijklωk ∧ ωl = 0. 8ZC~� k, l, �
Rijkl = 0. (4.20), (3.1), (4.15) x (4.18)–(4.20) #Z�C i = 1, 2, · · · , m, �

Rii =

2m
∑

k=1

Rikik =

m
∑

k=1

Rikik +

2m
∑

k=m+1

Rikik =

m
∑

k=1

Rikik

= m − 1 +

m
∑

k=1
k 6=i

(

λiλk +
∑

α6=n+1

(hα)2 − 0
)

= m − 1 + (m − 1)(λ + H)2 + (m − 1)
∑

α6=n+1

(hα)2

= (m − 1)
(

1 + (λ + H)2 +
∑

α6=n+1

(hα)2
)

. (4.21)



686 y / I ! 32 � A w&|=�C j = m + 1, · · · , 2m, �
Rjj = (m − 1)

(

1 + (−λ + H)2 +
∑

α6=n+1

(hα)2
)

. (4.22)? (4.14) x (4.21)–(4.22), #8 0 = (m− 1)(λ + H)2 − (−λ + H)2) = 4(m− 1)λH . ?C H 6= 0, O λ = 0, SE λ 6= 0 ?D�;* u2 6= 0 ���~7�M Mn 9_5?f�
u2 = 0, λ1 = λ2 = · · · = λn = H , Mn s�Ol7&�,F

(1) 4 p = 1 l� Mn s[O9�y Mn �5Z n �TB�
(2) 4 p > 2 l�?� [2] 9�) 1 i� [3] 9�) 9, Mn s���BW9� 1 + H297& Nn+p−1 9v#l7&�;� 1 + H2 > 0, ~7 Nn+p−1 s
�� 1

(1+H2)
1
2
9TB

Sn+p−1
(

1

(1+H2)
1
2

)
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Submanifolds with Positive Ricci Curvature in the
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Abstract Let Sn+p(1) be a unit sphere, Mn an n-dimensional compact submanifold im-

mersed in Sn+p(1) with non-zero parallel mean curvature vector . It is proved that when

n > 4 and p > 2, if the Ricci curvature of Mn is not less than (n − 2)(1 + H2), then Mn

is totally umbilical, or the Ricci curvature of Mn equals to (n − 2)(1 + H2), and so the

geometry classification of Mn is given.
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